Order of Operations

Warm-up continuation:

L Using paper and pencil, work with a partner to simplify the expressions.

a. 4+3x2:=
b. 5+42424 : 6=

IT.

Using a calculator, enter the following expressions and record the answer-. Compare your

answers with your answers above. If there were any differences, why?

a 4+3x2:=

b. 5+ 4%+ 24+ 6=

What is a numerical expression?

A numerical expression includes only numbers and
operational symbols

What does it mean to simplify?

To simplify is to find an eé;uivalenf expression that is
simpler than the original

What is the order of operations?
Parentheses
Exponents
Multiplication
Division
Addition
Subtraction

Order of operations is a series of steps to solve numerical
expressions. PEMDAS

1
2.
3.

Perform operations in grouping symbols first

Find the values of the number with exponents
Multiply or divide from left to right as ordered in
the problem.

Add or subtract from left to right as ordered in
the problem. '

Helpful Hint: .

The following chart resembles a hopscotch board.
It is to remind you that when you land on
multiplication/division, or addition/subtraction,
both of your legs are touching a box which means
that you must do whichever one comes first from
left to right.

9+12x2

4x32+8-16

5+12+:6-3

e

g




Order of Operations

ctice 1: ﬁ\
47 1+ 48 + (10 -4)
ctice 2:
8l+(9x9)+43
ctice 3:
61+5x10+2-70
ctice 4:
(22+18)+3-5x4
ctice bt
21+ (3+4)x9-2°
«ctice 6:

jina bought 5 carved wooden beads for $3

h and 8 glass beads for $2 each. Write
[ evaluate the expression.
bx$3+8x$2

ictice 71

er walked 2 miles a day for the first week
his exercise plan. Then he walked 3 miles
' the next nine days. How many miles did
er walk?

2x7T+3x9

w5




Name

Solve each of the following.

1) 503-4+203+10

4) 30-18+604

7 55¢3+(5+6)

10) (17 +8)+~5+3 03

13) 80 +1605+3°

16) (45+9 08 +40)°

2) 24+802+3+5

5 15-(5+3)+2

8) 6°+307—4+8

11) 9e (5+4)* +3

14) 24 +15-12+6

17) 18+5-4+9+3-4

www.mrmaisonet.com

3) 18—6+4+6-2

6) 64+8e4—-1+7

9) (6—4)° +4+203

12) 42 +403+1005

15) 603% +(8—2+3)?

18) 5+15+53




Jemework - Distributive Property Name: _ E#

simplify each expression:

_ =]
5(y + 8w) 0.2(x + B) | X(x +vy)
3(x +1.4) | 4(20 + 4) 3 (8+2)
5(3¢c + 6) 3(12p + 16) 3(y - 8)
G
3(3 +m) | 6(8m + 3) - 4 (14y + 10z - 2)
3(4h - 5t + 3) 5x(x - 3) 3(2x + 5) |




Exploring the Distributive Property

You can find the total area of two rectangles by two methods.
Method 1: Find the area of each rectangle. Then find the sum of the areas.

i
|

4 4 i

b
vk

Method 2: Combine the two rectangles into one large rectangle. Find its length.
Find its width. Then find its area.

The total area of two rectangles can be represented by the following two
expressions: 3 -4+ 5-4 and (3 + 5)4. Since both expressions have the same
value, so they are equivalent. 34+ 5-4 = (3 + 5)4 . This equation is an
example of the Distributive Property.

Distributive Property

To multiply a sum or difference, multiply each number within the
parentheses by the number outside the parentheses.

alb+c)=ab+ac 2(3+5)=203)+ 2(5)

(b+c)a=ba+ca (5+9)2=5:2+9:2



Distributive Property Practice

Simplify by distributing and collecting like terms. Show your work. The 1 one is done for you.

1. 3(4x+6) +7x= 11. 6m+32m+5)+7=
12 x+18 +7x = 19% +18 (

2. 712 +3x) +8= 12. 5(m+9)-4+8m=

3. 9+5@x+4)= 13. 3m+2(5+m)+5m=

4, 12+3(x+8)= 14, 6m+14+30Bm+T)=

5. 3(7x+2)+8x= 15. 42m+6)+3(3 + 5m) =

6. 3(4x%P + 2x%) + 40242 + 364 = 16. 2(1x%y + 5x% + 3xp) + 3(dxy + 222 + 5xPy) =

Simplify the expression first. Then evaluate the resulting expression for the given value of the variable.

7. 3x+502x+6)= ifx=4 17. 9@m+ 1) +2(5m +3) = ifm=2
3x+10x+30=

13x+30 =
13(4) + 30 =

8. 4+602x+7)= ifx=3 18. 7(7 + 5m) + 4(m + 6) = ifm=1

9. 8+509 + 4x) = ifx=2 19. 2(4m +5) + 83m +1)= ifm=3

3
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Evaluating Expressions

FINAL ANSWER!

Name: E#:
‘Evaluate for ¢ |
- ‘a=3 b=5 c=8 x = 10 y =2 zs=1
Evaluate: a+b-y
FIRST: Substitute in
values assigned fo the 3+5-2
E}g@m@gg variables.
THEN: Evaluate using 3+5-2
order of operations -2 i
(pE MD A 53 6 Answer
Try the following by plugging in what you know (use above variable values)
6+ 4x 2x + 3y + 4z 2y + 4abe
6+4( ) 2 )+3()+4() | 2(L)+4(0UW))W)
6 + . + + IO )
+ (X )
6( ) +3( ) +1
6b +3a +1 * +
Evaluate: 4




Try some more, using these variable values

z=1

a=4 b=25 c=8 x = 10 y =2 e
1) ax+c 2) Zb.=a+c 3) 3y +4 $
4) xyz 5) 4z +3 6) 4a-y
7) 3b+z 8) 8ab -c ab +z
9) 5
10) 4a+ xy 11) (x +vy) - 2x +3y -2
C

“n\?""'"
,f
h

SH
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Kuta Software - Infinite Pre-Algebra
Evaluating Variable Expressions
Evaluate each using the values given.

R nz—m; use mm="7,andn=8

3y mrliiex=T,4nd y=2

5) x~y+6;usex=6, and y=1

7) y+yx;usex=15and y=8

9) x+8—y,use x=20, and y=17

11) 10-x+y+2,wsex=5,and y=2

Name

Date Period,

2) 8(x—y); use x=5,and y=2

H m-n+dusem=5andn=38§

6) z+x3;usex=1,andzﬂl9

8) g+6+piuse p=10,andg=12

10) 15 ~(m+ p);usem=3, and p=10

12) p—2+¢gp;use p=7,and g=4

(



Name: Date:

Absolute Value Practice

Find the value of each question:

Define Absolute Value:

Core,

r
£1

D - 6) —|5|=

2) |-4=____ 7)~I-8lF_____
3) |6l= 8) —[-10l=____
4) |-101= ___ 9) -9

5) 13]= 10) —|-7|=

Write a representation for each situation, then find the value.

11) The absélui‘e value of 12.

12) The opposite of the absolute value of 10.

13) The opposite of the absolute value of negative 12.

14) The absolute value of negative 10,

15) The opposite of the absolute value of the opposite of 10.




~ "vteger Basics

— Week o

Name:

Jowtdr |
E#

V,J'/ is an

The set of all whole numbers and their opposites, including zero.

P teger? = NO_ or
| ' Positive numbers:
= Numbers than zero.
° onanumber line, positive numbers are 1o the of zero
Positive vs. Negative numbers:
Negative Numbers * Numbers than zero,
° onanumber line, negative numbers are to the of zero

Zero:
Neither or
Positive:
= Gain, above sea level, up, rise, increase, deposit,
Words that Negative:
represent positive " Loss, below sea level, down, decrease, withdrawal,
or negative Zero:

= Sea level, origin

/hat is a number A — 1
line?
Numbers that are the same distance from 0. Two exact numbers with
different signs.
What are ® If an integer is positive its opposite will be and
opposites? if a number is negative its opposite will be
= The opposite of zero is !
a) -7 and__ b) 28 and. c)___ and-105 e)0 and

What is absolute
value?

The distance an integer is from
® Any number in absolute value form wuil be !

= Absolute value symbol |x| = x or |- x| =
a) 1-91= b 171=___  ¢) |4]+]-6]:
e) |-6l+]-6l=_  f)-|-3]=___ 9) -l =




How do you
compare integers?

o Use a number line to compare each pair of integers.

Remember: Numbers increase in value as you move from left to right.

Q-4()-7 Bp-5()0 o-6() -3 d5()-6

o Use the number line if needed.

o Then read the numbers !éﬁ (the smallest) to the right (the largest.)

D2 NN NN NN NN NN MO NS N RN B N
ST T r— 1t 1 11 1 T [ 17
How do you order
integers?
Order from least to greatest: -8,-3,6,5, -4
Order from greatest to least -8,12,1,-6,5
Are the following integers?
35 2% 0 -3.8
Represent each situation as an integer. ,
Loss of 13 yards ina Jane deposited 100 dollars 200 feet above sea level
Write the opposite of each of the following.
15 -81 0 |18]
Find the absolute value of the following.
|-12] |47 -1423| -|-B|
Write in descending order. Write in ascending order.
-122,-24,0,3,11,-13,-5 -114,-50, 0, 12, 28, -15, -3

1A




Name: E#

Homework: Integers
Tell whether each 1
sumber is an integer. =g & 41 S = 9 L
Jrite Yes or No.
Whrite as an inte
e ger 5. Earned $3.
6. Lost five yards,
7. 618 feet above sea level.
8. A borehole two-thousand feet deep.
9. Eight units above the origin.
10. Fifteen units to the left of the origin. w1
11. New Orleans, Louisiana, is 6ft. below sea level.
12. In Miami, Florida, the average temperature is 82 °F.
13. John made a $85.00 withdrawal yesterday.
14. Russell Wilson scrambled for a 17 yard gain.
15. Sally withdrew $75.00 on Monday.
Write the opposite | 16. 4 17. -33 18. -142
of each integer.
19. 229 20. 0 21. 201
Find the absolute 22. [57| 23, |3y 24. |-28|
value,
25. |0| 26. -|0| 27. -|-31
GHIFRAGE e 28. -6 5 29. -31 .25 30. |¢| -6
infegers,
N/ 31. |-46] [-51] 32. 82| -188]
"

A



.

Jrder each set of
niegers

Ascending Order:
33. -5,11,64,0,-88,-6 34, 24,-8,12,-24,0,-55

Descending Order: ,
35. -235, 331, -413, 231, -415 36. 346,-626,-744,-364,262

Jrder from highest
levation to lowest.

37. 229m below sea level, 307m below sea level , 415 above sea level
320m above sea level , 125 m above sea level, 260 below sea level

Vhich is the
rarmest?

38, F. -25°C 6. -13°C H. 0°C I. 4°C

Vrite an expression
o represent these
ituations.

39. Felix is a superintendent for an apartment building. Using the elevator,
he goes from the ground floor down 2 floors to the basement, thenup 6
floors and then down 3 floors.

40. Lukeis arrmessenger' for a package-delivery company. He starts at the
company's office and walks 5 blocks west, 3 blocks east, then 1 more block
east, and finally 3 blocks west.

«

|
=N

f



Addition/Subtraction of Integers

Explore: For the next 5 minutes, work with your partner to try and figure out the
following integer problems. See if you can agree on an answer-.

1. -7-5 -10 - (-15) -2 +(-2)

2. -8+ (-3) 12 -18 - 14 -(-10)

Addition/Subtraction Integer Rules

Important to Understand:

Step 1.

Examples:

Step 2:

Examples:

Step 3:

Examples:

89
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£ are - Infinite Pre-Algebra
s/Subtracting Integers
each sum,

A2 a7

3) (~6) +12

5) 3+4

7) (~1) +(-46)

9) (~34) +50

Find each difference,

11) 2-(-2)

13) 8-7

i)

Name

2) (~10)+(~7)

4) 8+7

6) (—45)+9

8) (-30)+10

10) 38 +(-5)

12) (-1)-10

14) (~8) - (~6)

Date

Period

)



15) 11-4

17) 18-41

19) (-1)-(-3)

21) (~10) —47

23) 13+(-29)

25) (-32) — 44

27) 2+15+4

20) 2-(-9)-3

75

16) 48 - (=31)

18) (-38)-30

20) {~1) - (-40)

22) (-29)-29

24) 38 +22

26) (~12) + (~11)

28) 16+ (-13)+5

30) 10+ 3 —(-8)

"



Integer Addition and Subtraction (A)

(-9 - (-4 ! = 7-5=
(i~ (-2} =
-2§-5= (-21-7
§+hs (<) + M=
2= (100 = B-Gs=

(o] - 4 9. (T=

=]
1

Tl
i

SRR

l:cljf:] g [:E{EI' ‘E ‘“@ = ::umi‘l-‘z!:i ﬁ

Fed
B
+
Ty
i



Integer Addition and Subtraction (A)

31-(-17) = 09 - 2= (-20) + 41 = ?_,k—;;/

20 +62 = 82 +38 = (-8) +(-23) =

87 - (-36) = 34+ 62= 20 - (-41) =

3+(-63) = (-63) - (-719) = 55+ 44 =

(-87) - (:31) = 84 - (:37) = (43) -7 =

(-25)- 88 = (-56) + 91 = (-39) + 47 = g
A\

(-3)+(-71) = 52+23= (-61)-26=

(-3)-33 = | (-29) + (-87) = (-2) - (-56) =

24 - 50 = 65+ 19 = 46 + 46 =

43 - (-6) = (-20) - 37 = 12+ (-84) =

5+ (-40) = 75 - (-83) = (-36) + (-29) =

RILLS.COM MATH-DRILLS.COM MATH-DRILLS.COM MATHDRIL &




Unit 1 \WWee Y

r- Unit 1 Review
|-7-12 14 +(-19) -6+12-18
Simplify.

-12a—15b+5a+7b

-13x + 15y =5y + 13x

12f — 15f - 6g — 10g

-7(3x —10)

4(x—-2)-10x

-3(x=5) +2(x-3)

Simplify

—49 -9 +10

=1dr=g

15+ -3-12(3 + 4)

What is the absolute value of -14?

value of 107

What is the opposite of the absolute

What is the absolute value of 07

Write the following expressions

3 less than a number

15 more than 3 times a number

The quotient of a number and -3

The product of a number and -5

4 less than -3 times a number

& more than the difference between
a numberand 15

Word Problems

Michael dove into the water. He
went down 5 feet each second for 4
seconds. What integer represents
Michael’s position after 4 seconds?

Susan deposited $84 into her bank,
then she withdrew $48. What
integer represents Susan’s account
after the withdrawal?

The highest temperature in North

Carolina last year was 10?2 degrees.

The lowest temperature in Antarctica

was -189 degrees. What is.the

difference between these two
numbers?

Q.



Name: Date: Corel __ .-
| Homework: Combining Like Terms with Integers
(‘“}’
1. 6y + (-13y) 2. -12z + (—92) 3. -8x+ 9x - 13x
4, 18e + (-7e) - 27e 5. -3d +18d + (-7d) 6. -9t +9-17%
7. 15x +2x - 12x -13x2-15 | 8. 2p*+3p+12-18p*-p-7 |9. 12m+(-9) - 45m
10, 15x - 65x 11, -133x + (-212x) 12. 124k - (-65k)
7
13. -8 + 8k + 14 - 19k 14, 5(3e +b) - 2be 15, -12n-18n+9(4n + 3)
16. 8(z%+3) - 1922+ 14 17. 12p + 12p? - 11p - p - 12p?
18. -6(3m+ 2) - b6m + (-13) 19. -5(2k + 2) - 14k + (-32)

TR



Name:

Date:

Simplify Expressions Worksheet

Simplify the expressions.

1a. 4y + (-5)y

| ib.

-5 — 7(9y — 1)

2 a.

~10(-7w — 2 - 6w — 6w

2b.

Bs'®
st

3 a.

Aoy

3,

A0k + 4) - 10

| 4 a,

3¢+ 8¢+ 9 + be

| an.

7(x +6) + 90x - 3)

‘5a.

10 — 10b — 3b — 2 - 8b

Tan

w + 5 + 100R) - 8w

Ga

8 + (-2n + 8)

| &b

'—c & 4k - 8¢ = 'T -- 8&

7 a.

~10(4w+9) + 2(10 — 10w)

| 7h.

8 — 100" + 7p + 3) + 109>

20



Kuta Software - Infinite Algebra 1
Using the Distributive Property
Simplify each expression.

1) —6(a+ 8)

3) 6(=5n + 7)

5) (—4—3n) -8

N Q-7)-5

) 5(3m - 6)

1) S(b—1,)

Name

Date

2) 4(1 +9x)

4) (9m.+10)-2

6) 8(~b—4)

8) —6(x+4)

10) (6p+7) - —4

12) (x+9)-S

Period

(&

B\
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